* The diagram shows a triangle DEF inside a rectangle A
Dusgram NOT
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Show that the area of triangle DEF is 8 cm?.
You must show all your working.

(Total for question = 4 marks)

Qs.
S is a geometric sequence.
(a) Given that Wx -1, 1and Jx+1) are the first three terms of S, find the value of x.

You must show all your working.

(b) Show that the 5th term of Sis 7+ V2

(Total for question = 5 marks)
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a=\i+Jc and &= V& + V2 where c and d are positive integers.

Giventhatc:d=1:9
find, in its simplest form, the ratio a : b

(Total for question = 3 marks)
Q7.

* The diagram shows the triangle PQR.

Diagram NOT
accurately drawn

2rem

(7]
PQ = xcm
PR =2x cm

Angle QPR = 30°

The area of triangle PQR = A cm?

Show that x = Y24

(Total for Question is 3 marks)



